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EX14: Calculate the present value of an ordinary annuity of amount $100 paid annually for 5 years at the rate
of interest of 9% . Also calculate its future value at time 5.

Sl,' % ¥
——t ' ' -
e 4

w(d oy - R A-Crd 366,97 &
£

S/
Y I a W»T/um

Dererred  Amurry: <L o am WL{
thal UL al Aorie tome

R R ¢
L b

0 A

s\

R
SRR

e 4 2 13 4 aww oludu A["“L”‘;/

\_/ R
W(R,B) - R ag,
Wi(R, o) = W(R2) (1+i)"

L.

W 4e—
E..
%-f
5
g,



EX16: Consider a monthly annuity-immediate of 100 euro starting at 2 months and ending at 10 months.

Determine its present value given i=0.1.
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EX20: Consider an annual perpetuity of 300 euro, the first payment is made at the end of the third year and

the interest rate is 0.06. The present value is obtained as follows.
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EX22: Determine the IRR of the following financial project:
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